A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Vocab Misc Questions Overview

Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Vocab Misc Questions.

Question

In the given question, four words are printed in bold and are numbered A, B, C and D. The position of some highlighted
words may be incorrect and need to be exchanged with another highlighted to make the sentence correct. Find the words
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that need to be exchanged. In case the given sentence is correct, mark option 5 i.e 'No exchange required' as your

answer. The money would be used for (A) developing cutting-edge technologies for high-power, high (B) repetition rate
lasers, high quality optical (C) components and state-of-the-art electronics and (D) software.

Difficulty : Moderate

Options :
1. B-C

2. A-C and B-D
3. A-Band C-D
4. C-D

5. No Exchange required

Solution

Average Time: 52 Seconds

The correct answer is Option 5 i.e. No Exchange required.

Concept/Grammar rules
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The given question asks
to find the words that
need to be exchanged
over one another (the
emboldened ones) in
order to form a coherent
sentence.

The sentence is
correct in the
present form and
no replacement is
required in the
present statement
in order to make it
correct.

Hence, the correct
answer is Option
5i.e. No
Exchange
required.
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